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SER - FEA import numpy as np
= from numpy.linalg import inv

———

A = np.matrix([[2,1],[1,1],[3,11,[0,1]])
HEET L BB R b = np.matrix([[5.5],[0.5],[8.5],[-3]))

FEFEAMEbZR T

AT = np.matrix S (A)
ThR=  SKEEHEE

DB : SRERIES
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Import numpy as np
from numpy.linalg import inv




Matrix

A = np.matrix([range(1,5)])

"

matrix([[1, 2, 3, 41]1)




L e aE]



Matrix §# g

A = np.matrix([range(1,5)])
np.matrix.transpose(A)

R

>>> np.matrix.transpose(A)
matrix([[1]
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|
|

A = np.matrix([[2,11,[1,11,[3,11,[0,1]])
b = np.matrix([[5.5],[0.5],[8.5],[-3]])

>>> A >>> b

matrix([[2, 1], matrix([[ 5.5],
1, 11, - 0.5],
3, 11, - 8.5],
0, 111) -3. 11)




A = np.matrix([[2,1],[1,1],[3,1],[0,1]])
b = np.matrix([[5.5],[0.5],[8.5],[-3]])

A BASKARY [z 7B R 72
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A = np.matrix([[2,1],[1,1],[3,1],[0,1]])
b = np.matrix([[5.5],[0.5],[8.5],[-3]])
AT = np.matrix.transpose(A)
AT @ A

>>> print (AT@A)
[[14 6]
[ 6 4]]

>>> AT @ b
matrix([[37.




2 1 5.5
2 10 3] |1 1]|fa]_[2 1 0 3]]05
1 1 1 1110 1] ld 1 1 1 1] |-3
3 1 8.5
>>> print (AT@A) >>> AT @ b
[[14 6] matrix([[37. ],
[ 6 4]] [11.5]1])

14 6 [Cl] _ | 37
6 4| Lld 11.5
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>>> A
matrix([[14, 6],
[ 6, 41])

B = np.matrix([[14,6],[6,4]])

invB = inv(B) >>> invA

ans = invB @ np.matrix([[37],[11.5]]) matrix([[ 0.2, -0.
[-0.3

>>> dNnsS

[-3.05]])

14 6])[ 37 ] matrix([[ 3.95],




ax+d=y

a=395 d=-3.05

>>> dNS

matrix([[ 3.95],
[-3.05]])
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ax+d=y

T —

a=395 d=-3.05
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(3,8.8)

ax+d=y

a=395 d=-3.05

R — —

(03_3)
np.matrix([[2,1],[1,1],[3,1],[0,1]]) @ ans
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B=AT @A
invB = inv(B)
ans=invB @ AT @ b

T— —



SER - FEA import numpy as np
= from numpy.linalg import inv

A= np.matr.ix([[2,1],[1 ,11,[3,11,[0,11])
SEEB— - Uiy b = np.matrix([[5.5],[0.5],[8.5],[-3]])
FEPEAM EbFRM

AT = np.matrix.transpose(A)

TER= : REFEFB[E

B=AT @ A
: " invB = inv(B)
SHEBPY - SKER{ESE ans =invB @ AT @ b

T —
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A = np.hstack((np.transpose(vx), np.ones((50,1))))
b = np.transpose(vy)
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